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Question Number : 1 Question Id : 953357157849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct about principles of child development?

Options :

1. Development occurs from central part of the body toward peripheries.

2. Development is not influenced by heredity and environment.

3. Development in one domain doesn't have any influence on development in other domains.

4. Development is purely quantitative and can be measured precisely.

Question Number : 1 Question Id : 953357157849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 953357157850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Language development among children gets influenced by -

Options :

1. genetics only.

2. environment only.

3. genetics as well as environment.

4. neither genetics nor environment.

Question Number : 2 Question Id : 953357157850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 953357157851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A progressive classroom -

Options :

1. gives primacy to silent listening only.

2. respects individual differences among learners.

3. is marks - oriented.

4. is based on behaviouristic principles of learning.

Question Number : 3 Question Id : 953357157851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 953357157852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Lawrence kohlberg's theory of moral development "Obeying rules to avoid punishment" represents -

Options :

1. Pre- conventional stage

2. Formal operational stage

3. Conventional stage

4. Post conventional stage

Question Number : 4 Question Id : 953357157852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 953357157853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to facilitate the learning process, a teacher should use strategies which emphasise on :

Options :

1. the progression of concept from complex to simple.

2. the primacy of convergent thinking.

3. exploring the relationships between different concepts.

4. creating competitive culture among students.

Question Number : 5 Question Id : 953357157853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 953357157854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky's theory mainly focuses on explaining :

Options :

1. the impact of heredity on development.

2. the role of cultural tools in cognitive development.

3. the bio ecological model of socialisation.

4. the impact of attribution pattern on motivation.

Question Number : 6 Question Id : 953357157854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 953357157855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During a discussion on "Cricket", a teacher is posing questions mostly to boys and not to girls. This act of teacher is an example of :
Options :

1. Gender Empowerment

2. Gender bias

3. Gender relevance

4. Gender threat

Question Number : 7 Question Id : 953357157855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 953357157856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In a child-centered classroom, a teacher gives importance to -
Options :

1. frequent objective type examinations.

2. active knowledge construction process.

3. completion of syllabus in whatever way possible.

4. strict disciplinary practices based on punishment.

Question Number : 8 Question Id : 953357157856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 953357157857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is primary agent of socialisation for children?

Options :

1. Books and magazines

2. Immediate family

3. Parent's work place

4. Staff at hospital

Question Number : 9 Question Id : 953357157857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 953357157858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Concrete operational stage in Jean Piaget's theory of cognitive development corresponds to the age group -

Options :

1. Birth 0 - 2 years



2.2 -7 years
3.7-11 years
4. Above 11 years

Question Number : 10 Question Id : 953357157858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 953357157859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

You are a teacher who believes that "children learn at varied paces and in different ways". In your class, you will plan assessment which :
Options :

1. is same for all students.

2. includes objective type questions only.

3. is not related to how children learn.

4. is based on different methods of assessment.

Question Number : 11 Question Id : 953357157859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 953357157860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per Lev Vygotsky's theory which of the following is an effective strategy of scaffolding the teaching - learning process?

Options :

1. Providing rigid step-by step instructions to solve problems.

2. Punishing the children for incorrect answers.

3. Giving hints and cues if children are stuck at some point while solving the problem.

4. Complete non- interference of teacher in the process.



Question Number : 12 Question Id : 953357157860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 953357157861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct about intelligence?

Options :

1. Intelligence can be measured only through Intelligence quotient (IQ) tests.

2. Genetics play no role in creating individual differences in intelligence.

3. High intelligence is one domain ensures high intelligence in other domains also.

4. Intelligence is more than the ability to perform well in school.

Question Number : 13 Question Id : 953357157861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 953357157862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Seeing a horse, a three year old child exclaimed. "Wow! Such a big dog". As per Jean Piaget's theory of cognitive development , this
response by child is an example of :

Options :

1. assimilation.

2. make-believe.

3. object - permanence.
4. deferred imitation.



Question Number : 14 Question Id : 953357157862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 15 Question Id : 953357157863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky's ideas Language and thought suggest that -

Options :

1. language guides cognitive development.

2. cognitive development guides language.

3. there is no relation between language and cognition.

4. cognition is independent of language.

Question Number : 15 Question Id : 953357157863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 953357157864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Creativity among children can be facilitated :

Options :

1. by encouraging exploration.

2. through teacher - centric pedagogy.

3. by drill and repetition.

4. through imitation only.

Question Number : 16 Question Id : 953357157864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 953357157865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Dyscalculia is directly associated with :

Options :

1. locomotor disability.

2. fluency in understanding other's motives.

3. musical ability.

4. difficulty in learning of mathematical concepts.

Question Number : 17 Question Id : 953357157865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 953357157866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

Right to Education Act (2009) has a provision of Reservation of seats in Privates schools for admission of students from Economically
weaker section (EWS). In order to successfully these students a, a teacher should use pedagogy based on -

Options :

1. discrimination.
2. segregation.

3. equity.

4. equality.

Question Number : 18 Question Id : 953357157866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 953357157867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In an inclusive classroom, information should be presented in :

Options :

1. textual form only.

2. visual form only.

3. verbal form only.

4. multiple forms.

Question Number : 19 Question Id : 953357157867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 953357157868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to contemporary polices of Education, which of the following is the most suggested model of schooling for children with
disabilities?

Options :

1. Only vocational education
2. Inclusive education

3. Separate education

4. Integrated Education

Question Number : 20 Question Id : 953357157868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 953357157869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not correct about the learning process?

Options :

1. Learning is a continuous process.

2. Error and mistakes are irrelevant in the process of learning.

3. Learning is based on personal and environmental factors.

4. Learning takes place in a spiral manner and not in linear manner.

Question Number : 21 Question Id : 953357157869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT TT3FaT % a1 § FeAteTiad 5 | SH-91 F99 Tad 27
Options :

| st vk foee he 2
) sTfers wifean  qfeat +f Tefaat ST
;AT ST U ATV R O AT 2

) AT ToRg 9§ AT 8, ST B & T

Question Number : 22 Question Id : 953357157870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Repeatedly telling the child that ' he/she is not capable of learning ' is likely to -

Options :

1. demotivate the child to learn.

2. fasten the pace of learning for child.

3. motivate the child to learn.

4. have no effect on child's learning.

Question Number : 22 Question Id : 953357157870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 953357157871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Problem - solving skills can be enhanced by :

Options :

1. fixating on conventional use of materials.

2. representing problems in standardised format.

3. considering alternative ways of solution.

4. rote memorisation.

Question Number : 23 Question Id : 953357157871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 953357157872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To teach a concept to students in primary grades, which of the following sequence of representation of content is most appropriate?
Options :

1. symbols, pictures, concrete materials.

2. pictures, symbols, concrete materials.

3. symbols, concrete materials, pictures.

4. concrete materials, pictures, symbols.

Question Number : 24 Question Id : 953357157872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 953357157873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Classroom environment has a significant on children's learning. To inculcate a culture of mastery oriented learning (learning that focuses
on understanding) , learning, classroom environment should be :

Options :

1. Performance oriented.

2. competitive and individualistic.
3. teacher dominated.

4. cooperative and collaborative.

Question Number : 25 Question Id : 953357157873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 953357157874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correct statement in content of learning?

Options :

1. Examination is the ultimate goal of learning.

2. Learning is a passive process and it doesn't require engagement of learners.

3. Emotions have no influence on the process of learning.

4. Learning is a complex process which requires active engagement of learners.

Question Number : 26 Question Id : 953357157874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 953357157875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Socio-Constructivist view of learning emphasise on the importance of in process of learning.

Options :

1. interactions

2. rewards and Punishments

3. heredity only

4. inflexible pedagogical approaches

Question Number : 27 Question Id : 953357157875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 953357157876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of influencer and source of motivation?

Options :

1. Self - fulfilment — Extrinsic motivation

2. Curiosity — intrinsic motivation

3. Cash prize — intrinsic motivation

4. Interest — extrinsic motivation

Question Number : 28 Question Id : 953357157876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 953357157877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To facilitate conceptual understanding among students , a teacher should :

Options :

1. encourage students to learn through rote memorisation.

2. not include examples and non-examples in the discussion of concepts.

3. provide opportunities to make connections between what has been presented and what they know already.

4. rely only on lecture method for teaching.

Question Number : 29 Question Id : 953357157877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 953357157878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following factors influence learning ?

(i) Motivation
(i1) Social content
(iii) Emotions

(iv) Pedagogical approaches
Options :

1. (1),(ii), (iv)

2. (1),(iii), (iv)

3. (ii),(iii)

4. (1),(i1), (iii), (iv)

Question Number : 30 Question Id : 953357157878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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5. (i1), (ii1)

4 (D), (ib), (iii), (iv)
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Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 953357157879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The rate list of groceries in a shop are depicted as follows:

Rice (1KG) 370
Black gram (1KG) 290
Wheat Flour (1KG) 45
Coriander powder (250g) 340
Chilli Powder (250g) %60
Salt (1 Pkt) 325
Biscuit (1 Pkt) 320

Ashish needs to buy 5kg of rice, Skg of wheat flour, 250g of coriander powder, 250g of chilli powder, 2kg of black gram
and some packets of biscuit with remaining money. If he is having 1000, how many biscuit packets can be buy?

Options :
1. 8

Question Number : 31 Question Id : 953357157879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 32 Question Id : 953357157880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e |am atwo digit number.
s The digit at ten's place is multiple of 2 and digit at units place is multiple of 3.
¢ The sum of the two digit is a prime number which is a factor of 52.

The number is

Options :

1. 69

5 46
3. 49

4. 83

Question Number : 32 Question Id : 953357157880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. B3

2. 46
3, 43

4. 83

Question Number : 33 Question Id : 953357157881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The rates of hiring a rental car are as follows:

% 800 per 8hours up to 80 km

% 100 per extra hour and 10 per extra km.

Sunil travels from city A to B which is 250 km. He starts at 7:00 am and reaches at 4:00 pm on the same day
How much money he has to pay?
Options :

1. 2,500

, 2,600
3 X2,700

4 $2,400

Question Number : 33 Question Id : 953357157881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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far &= &2

Options :

1. ¥2500

5. %2600
3 %2700

4. 2400

Question Number : 34 Question Id : 953357157882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is at the third place when numbers are arranged in descending order?
9.09, 9.009, 9.990, 9.909, 9.099

Options :
1. 9.990

» 9.099
3 9.909
4 9.090

Question Number : 34 Question Id : 953357157882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HalGT HH A SGaheyd e W He=iolf@d # § Sl-81 §&r dray T 9 g

9.09, 9.005, 9.590, 5.909, 9.059
Options :



1. 9.990
2. 9.099
3. 9.909

4. 5.090

Question Number : 35 Question Id : 953357157883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a four digit number, the digit at hundreds place is 0, the digit at tens place is twice that of units place whereas, the
digit at thousands place is thrice that of units place. If the digit at units place is 2, what is the number?

Options :

1. 4062

5 6024
3. 6042

4 4602

Question Number : 35 Question Id : 953357157883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T IR 3l T T # 1l T W0, SE5 F T T 36 Th5 F WU W HF § I § a9l gad 0 I I 55 &
T W ¥ W T &) S v g

Options :

1. 4062

) 6024
3 6042

4 4602

Question Number : 36 Question Id : 953357157884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The sum of two digit number and the number formed by reversing its digits is equal to 88.
How many of such numbers are there in which tens digit is greater than units digit?
Options :

1.2

Question Number : 36 Question Id : 953357157884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Ueh gf 3eh! drell &A1 H 5 HH &7 Toicsl W d=l S&g1 &7 45T 88 & 06 g §ea’ &, 59 gl & A 5o F FE |
st &7

Options :

Question Number : 37 Question Id : 953357157885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A rectangle of sides 8cm and 10cm is divided into four equal rectangles.
What is the perimeter of each small rectangle?

Options :

1. 36cm

2. 9cm
3. 18cm
4. 20cm

Question Number : 37 Question Id : 953357157885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

8H AL 3N 10{.A. H3 el T I & IR TA Jat # Tdenfeid fHar =r §1 s BIC 3Mad & IRAT =1 gHE?
Options :
1. 36T,
2. 9FAL
3 18 T

4, 20 %A

Question Number : 38 Question Id : 953357157886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true?
Options :
1A prime number when added to another prime number always gives a prime number

5 A prime number when multiplied by another prime number always gives a prime number

3. Prime numbers do not have factors



4 There are infinitely many prime numbers

Question Number : 38 Question Id : 953357157886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

feafof@d @ 4 &la-ar Faa 97 &7

Options :

L Ueh HeATed HEAT # Sid q@ll ooy TEdr Sisr Se, df 6T Udh 3eied §&dn uied ghafh

, T I T FT G IR T IO T ST A W U I S W g

5 IWIST HEABH & A0MEs 61 6 o

4 IS HEAC FORHAT §9 F 36 5

Question Number : 39 Question Id : 953357157887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The number which divides 88 and 160 leaving remainders 3 and 7 respectively is:
Options :
1. 13

5 17
3. 21

4 28

Question Number : 39 Question Id : 953357157887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

a5 g fams 28 3 160 = faufeg 39 W 99Ta &9 3 37 7 s, =e &
Options :
1. 18

2. X
3,21

4. 28

Question Number : 40 Question Id : 953357157888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Malini has only %2 and %5 coins with her. If the total number of coins she has is 36 and the amount of money with her
is 105, then the number of X2 and %5 coins with her are:

Options :
1 26 and 10 respectively

5 25 and 11 respectively



3 21 and 15 respectively

4 24 and 12 respectively

Question Number : 40 Question Id : 953357157888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AlfelAT & O &aer 22 3R 5 & GeF §) e 30F o9 [edl &1 For dear 36 AR AfEr 2105 § ar 22 3N 25 & Wl & gen
&

Options :

1. A 26 3R 10

o, WA 25 3R 11
3 S 21 3N 15

4, TEA: 24 3R 12

Question Number : 41 Question Id : 953357157889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Evaluate 14.5%3+18+3-3x12.57
Options :
1. 6

7. 12
3. 56

4 615

Question Number : 41 Question Id : 953357157889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A AT HIfAT:
14,5%3+18%3-3x12.5
Options :

1. 6

2. 12
3, 56

4, 61.5

Question Number : 42 Question Id : 953357157890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One-sixth of the trees in a garden are jamun trees, half of the trees are Eucalyptus trees and the remaining are peepal
trees.

If the number of jamun trees is 6, how many peepal tree are there in the garden?
Options :



1. 36

3. 18

Question Number : 42 Question Id : 953357157890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

U T & Fall A A & Jall § T Uk Seal 89 &, AT g7 gahferaed & R arhr 9ioe & gaT §) g Se & ga o
& 6 B, d anr F die & fhae gar &2

Options :

1. 36

2. 12

Question Number : 43 Question Id : 953357157891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A train leaves Vishakhapatnam, on the 1% September, 2019 at 04:48 hours and reaches its destination on ond
September at 17:37 hours.

The total travel time of the train is

Options :

1. 30 hours 37 minutes

> 36 hours 37 minutes
3. 36 hours 49 minutes
4. 38 hours 12 minutes

Question Number : 43 Question Id : 953357157891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

U Yeremsl faurEesd F 1 faaFat 2019 & Gap 04:48 ds WU Al § IR 39 Ideg W 2 FdFaR & 17:37 &1 95l &l
S Xeans! AT H Hol TAT o

Options :
1. 30 §& 37 W&=c

7 36 9¢ 37 AT
3. 36 ©¢ 49 fAae

4, 38 G9¢ 12 =T



Question Number : 44 Question Id : 953357157892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following have the lengths been arranged in increasing order?
Options :
1 5500 cm 50 mm, 500 dm 30cm, 55000 mm, 50 m

2 50 m, 5500 cm 50 mm, 55000 mm, 500 dm 30 cm
3 55000 mm, 500 dm 30 c¢cm, 5500 cm 50 mm, 50 m

4 50 m, 500 dm 30 c¢m, 55000 mm, 5500cm 50 mm

Question Number : 44 Question Id : 953357157892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TrTad # § ®I9-90 dasdl & dog &7 # tgareyd fhar = §7
Options :
1. 5500 &.#I. 50 mm, 500 dm 30 &AL, 55000 mm, 50 m

5 90m, 5500 F.#A. 50 mm, 55000 mm, 500 dm 30 .4
3 55000 mm, 500dm 30 ¥.#1., 5500 &AL, 50 mm, 50 m

4 50m, 500dm 30 %A, 55000 mm, 55003, 50 mm

Question Number : 45 Question Id : 953357157893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A 270cm long wire is formed into a rectangle. If the width of this rectangle is 50cm, what is its length?
Options :
1. 60 cm

2. 75cm
3. 85cm
4. 90 cm

Question Number : 45 Question Id : 953357157893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ueh 270 QAL odl AR & Uk AT & w9 fdar I/ 5 3l 59 3ad & diss so @A B a1 sHdl dars a1 g
Options :
1. 60 ¥AL
5. 7STAT.

3. 8594



4, S0 WAL

Question Number : 46 Question Id : 953357157894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When asked to write 35, some students of grade Il wrote as 305. As a teacher, how will you address this problem
Options :
1 By telling them that it is wrong and asking them to find correct answer

5 By writing the correct answer on the black board
3 By asking them to write correct answer ten times in their notebooks

4 By explaining the principle of exchange through concrete material

Question Number : 46 Question Id : 953357157894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

war 11 & @mEt & 35 ©Es & WU & 7 af B 305 T deaeE & w9 F HT sua F gheg w7
Options :
| T a1 &R & T TTerd § IR 3v6 Tel Iook Iod e F o0 g

). WHAYE W HEl 3ok folg ol
3. 3T HOT FT A g¥ aN §el 3ol fows & fore g

, 30 0 ol @ fafeea faes e &0

Question Number : 47 Question Id : 953357157895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which aspect/aspects of mapping are present in the primary mathematics curriculum?

(A) Map interpretation

(B) Unscaled drawing

(C) Using symboils

(D) Drawing as per scale

Options :

1. ACD

5 ABC
5 BCD
4 ABD

Question Number : 47 Question Id : 953357157895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



AT & Ufds deded # widfE=oT (@f=n & $id § g fdegae &2
(8) AT T TS

(8) To=r AT arer e

(C) Hehal (Toilehl) & TIHET

(D) YH=T & AR FTer@ WA=

Options :
1. ACD

2 ABC
3 B,C,D

4 GDA

Question Number : 48 Question Id : 953357157896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following topics are not part of the primary school Mathematics curriculum as per NCF 20057
Options :
1. Integers

> Tessellations
3. Estimation

4. Symmetry

Question Number : 48 Question Id : 953357157896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TSR UEaEdl FOU@r 2005 & HuR Feefdd & & sl § Gun oruf@s Gegedt § afvia sasH &1 80 761 5
Options :
1 o

o, HIs (ersferam)

5 HA T

4%@%

Question Number : 49 Question Id : 953357157897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Beads can be used to explain which of the following concepts?
Options :
1 Number sense, fractions, patterns

5 Fractions, place value, volume

3. Number sense, patterns, volume



4 Number sense, tessellations place value

Question Number : 49 Question Id : 953357157897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AR & 9A9T Frafaf@a # § & 3aumonsT & g8 & e & 51 9 &2

Options :

| W d, e, ot

o T8, T A, ST
3 TEAT 9, giEd, JEaE

4, TET g, dius (ergfer), TRy A

Question Number : 50 Question Id : 953357157898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is/are true? Boys are better than girls in problem solving

(B) Children coming from rural background find mathematics difficult-

(C) Teacher's beliefs impact learner's performance in mathematics

Options :

1. A

4 AandB

Question Number : 50 Question Id : 953357157898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rrfafad # ¢ 3 T/ FU T8 8

(A) THTAT TATENS H W56, dsiehdl O HATH® 999 §

(B) FHTUT TSSHFRA F 3T aTer Il &l AT FHioT oRam 5

() 3 & faORT &1 3R aIftT di@er aret & ygele o¥ g Bl

Options :

1. A

4 AFRE

Question Number : 51 Question Id : 953357157899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is most appropriate strategy to teach data collection and interpretation to primary class
students.

Options :

1. Providing lot of practise questions

2 Asking students to conduct survey
3. Conducting quiz in classroom

4 Conducting group discussion in class

Question Number : 51 Question Id : 953357157899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

orfHe Fal & et #1 Esl & TIT AN Ui dee & v BEafefEa & ¥ s @ g9 307
Options :
|, 3 & foIT & G 9 3TeleE T

, Tacanfdat & wearor #1 e FRaE
5 T A Fae (Wedicall) &1 Sere e

. el 7 wEfew afteE (faer faed) o darce s

Question Number : 52 Question Id : 953357157900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student tells that the shape of a samosa in triangle. He is at which stage of geometrical thinking as per Van Hiele's
level

Options :

1. Visualization

5 Analysis
3. Establishing Relationship

4. Axiomatics

Question Number : 52 Question Id : 953357157900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

U faeanedt F5dr & o TR &1 HRER TS SN B 98 SEnfedr @deer 7 341 gier (van Hiele) % IR T TR W &7
Options :
1. 0




Question Number : 53 Question Id : 953357157901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following may be considered a feature of a constructivist mathematics classroom?
Options :
; Memorizations of mathematical definitions is accorded high value

5 The teacher focuses only on the right answers
3. Students’ errors are considered an important source of information

4 Interaction among students is discouraged

Question Number : 53 Question Id : 953357157901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frafeida # & B8 SgcAs (TTaE)) ATUIT HaTl &l oaTul Al AT Hehell 67
Options :
|, OIS oSt S ST S F 3Td A &

o 3EAGH T el el Ieall B Higd HeT

3 faeanfil carr &1 a5 Fedl F A F Apcaql TAd FHFA

y, Tacanfdat # uReaRe st & oo #Re

Question Number : 54 Question Id : 953357157902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true in the context of nature of mathematics?
Options :
1 Mathematics involves study of patterns and relationships

2 Mathematics is limited to study of numbers

3. Mathematics involves abstraction and visualisation

4. Mathematics connects to the real world

Question Number : 54 Question Id : 953357157902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT F sy F Y A @ d sl ar gl s &
Options :
| T # it iR HeEt S gers @At 8

o MO HEH F1 9es T HiEd b
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Question Number : 55 Question Id : 953357157903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following may NOT be associated with the development of special understanding among children?
Options :
1 Calculating the distance between different cities on the map of India.

2 Imaging what a piece of paper would look like if it is folded along given lines.
3 Giving directions to reach their house from the school.

4 Matching the top-view of a pencil with its side view.

Question Number : 55 Question Id : 953357157903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

feaferf@a # & @ e & fifaw (Ravue) w0 & G & & v daad: suged 78 &2

Options :

| FRA & A 7 fafie a6l & &= gl & aRwes

5 ST Fedell FAT [ & 55 T@EH W AlSA § UF O 1 s Far fegmm

5, & & & @ faggea & = & o1 w9 §

,, TS F IO TR F AT T F GAAH FA

Question Number : 56 Question Id : 953357157904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT correct in the context of teaching area- measurement of plane figures?
Options :
1. Students should be given a chance to 'discover' the various formulae

5 Use of formula for area-measurement should be taught before estimation of areas
3 Grid paper can be a useful device for introducing and implementing the formal units of measurement

4. Tessellations with regular shapes can be useful for teaching area-measurement

Question Number : 56 Question Id : 953357157904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT FPIAA! & &G H AN & Toal & HEAeidd # F Hi G U G617 o7
Options :
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Question Number : 57 Question Id : 953357157905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the open-ended question from among the following.
Options :

The volume of a cardboard box is 480m?3. If its length and breadth area 10m and 8m respectively, What would its
1 height be?

2.
The breadth of cardboard box is four-fifths of its length and the height is three-fourths of its breadth. If the volume of

the box is 480m?3, find its length, breadth and height

3. The area of a rectangular field is given to be 480m2, What can its length and breadth be?

4 How many rectangular plots of area 480m? can be accommodated in a larger field of area 3360m<?

Question Number : 57 Question Id : 953357157905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fAF=tieli@d # & #Hod Y arel gea &l UEen=C:
Options :
| U e & fSsa @ A 480m* ¥ ATE s ol 3R Htst$ @A 10m 3R 8m B, 1 s TS a4 gy

UE A & e Y ders s ofars § 2§ AR Fand, die & g §) o B @ smawa 480m® 8, A suAT waS,
, s it S e S

3 U HRAER Wd & &Ehe 480m? &1 $UA wiars AR DS 1 &1 Tehcll 67

, T 35 3360m’ ATl W # 480m? TG dle R HRAEN ST TAT Fehet §7

Question Number : 58 Question Id : 953357157906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT correct in the context of hierarchy of Mathematical concepts?
Options :
1. Multiplication builds on the concept of addition

5 Division builds on the concept of subtraction

3 Integers build on the concept of natural numbers



4 Fractions build on the concept of decimals

Question Number : 58 Question Id : 953357157906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g & HIURUIST & dewiag Hea A Fefaf@a # & 9 a1 wue w96 a6 8

Options :

L 3T T 3G AT HT HIUROT R 3T &l
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Question Number : 59 Question Id : 953357157907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|dentify a desirable practice for teaching fractions at primary level
Options :
1 Everyday conceptions of fraction should not be allowed to interfere with classroom teaching

5 Only halves and quarters should be introduced at primary level
3. The concept of fractions should be demonstrated in multiple situations

4. Numerator and denominator should be emphasised as separate numbers

Question Number : 59 Question Id : 953357157907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

uffAs T W 8l & tg= & v aie=g e i gganfay|
Options :
| ToeT & ufafe & 3EuRomT #1, Fam & 9oy # EaarT ol gl e

5 TrfEE T 9T $haa 1 AR 9 a1 o= fGEr @ aige)
3 et &1 JauRen @ faffes Fufadl # gefdla faar smar =ifew

y, Foca fear S v f& s 3R &Y, g dEaw

Question Number : 60 Question Id : 953357157908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT desirable with regard to assessment in mathematics at primary level?
Options :
1 Emphasis should be on assessing conceptual understanding



> Aunigue test pattern should be consistently followed

3. Assessment should be sensitive to the context of students

4. Itisimportant to challenge all children according to their mathematical taste

Question Number : 60 Question Id : 953357157908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

UEHE T W AT F Feed § g #§ Srateds § ¥ & aoaT 78 8
Options :
| FTEERUNET 1 §AG F Hhod W Aped I ST AR
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Question Number : 61 Question Id : 953357157909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which one of the following parts of our country most of the people grow tapioca and coconut in their own courtyard and using these
they prepare their tasty food?

Options :

1. Kerala

2. Goa

3. Assam

4. Andhra Pradesh

Question Number : 61 Question Id : 953357157909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 29T o T ek WIT oF STTRIeRTST o4 Tvh 37U =T & AT | SIUSATeRT TR ATHE Sd 2 ST SR U1 e

Options :
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Question Number : 62 Question Id : 953357157910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The name of a particular species of birds whose male bird makes many beautiful nests and the female bird selects one nest to lay her eggs
is

Options :

1. Indian Robin

2. Sunbird

3. Tailor bird

4. Weaver bird

Question Number : 62 Question Id : 953357157910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

aferat it 3 st w1 AT 2 o T ast o g T s § ST e usft 39 § S v e g
F ot say sve ee 2
Options :

-

2. IR

;. T (&)

Question Number : 63 Question Id : 953357157911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Your house is located at X and your father's shop is located at Y. Although your father's shop is just opposite but you cannot go straight
because of a deep canal in between, therefore, you first go 200m due south, then 150m long bridge which is due east and finally reach at
your father's shop which is 200m due north. With respect to Y, the minimum distance of your house and it's direction respectively are:

Options :

1. 150 m due west
2. 150 m due east

3. 350 m due west
4. 550 m south-west

Question Number : 63 Question Id : 953357157911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST = X W e # ofR e fuarsht it g y w Rum 2 Faft s framsh ft e S e twg e
Tt T B 5 S ST S T S e B o7 ST Ty i 2 200 :natm'r‘r%aﬁrﬁ:{aﬁa’qarr 150
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Options :

L 150 m 3w ufzm |

, 150 Illael‘on"qﬁﬁ

; 350 mFAEE T

4 550 m 31 oty 5

Question Number : 64 Question Id : 953357157912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A doctor has suggested to a person to eat daily the green leafy vegetables, amla and jaggery (Gur) along with medicines. This person must
be patient who is suffering from

Options :
1. Anaemia
2. fever

3. malaria
4. typhoid

Question Number : 64 Question Id : 953357157912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

- b [ o Oy [ & < 3 A
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Question Number : 65 Question Id : 953357157913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bronze is an alloy whose main constituents are

Options :

1. lead and tin

2. copper and tin

3. copper and zinc

4. Aluminium, copper and tin

Question Number : 65 Question Id : 953357157913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :



| Har (#e) e fm

, I (qam) af e

, FIH (ATa) 1 5 (S=)

\ TS, F (FTET) R

Question Number : 66 Question Id : 953357157914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the following statements about the world famous pashmina.

(A) A pashmina showl is as warm as six sweaters.
(B) The goats from which the soft pashmina wool is collected are found on very high mountains of 5000 m.
(C) A coat of warm hair grows on the goat's body which protects it from extreme cold.

(D) The fine hair after cutting from the goat’s body are woven on machines.

The correct statement(s) is/are
Options :

1.only B

2.only D

3.A,Cand D

4. A,Band C

Question Number : 66 Question Id : 953357157914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 953357157915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which year a thousand people died in the earthquake that struck in Bhuj (Gujarat)?

Options :

1.2000

2.2001

3.2002

4.2004

Question Number : 67 Question Id : 953357157915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 2000

5 2001
3 2002

4 2004

Question Number : 68 Question Id : 953357157916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

With respect to the location of the capital of our country, the capital of the Himachal Pradesh (Shimla) and the capital of the Madhya
Pradesh (Bhopal) are located (respectively) in the

Options :

1. north and south

2. south-east and north-west

3. south-west and north-west
4. north-east and north-west

Question Number : 68 Question Id : 953357157916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 953357157917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A person living in Shimla (Himachal Pradesh) wants to first visit Bhopal (Madhya Pradesh) and then Gandhinagar (Gujarat). The direction
of his journey will be first towards



Options :

1. south east and then towards west
2. south west and then towards east
3. south and then towards west

4. south and then towards east

Question Number : 69 Question Id : 953357157917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 953357157918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The state/Union Territory of our country which has a coast on the Arabian Sea is

Options :

1. Andhra Pradesh

2. Karnataka

3. Puducherry

4. West Bengal

Question Number : 70 Question Id : 953357157918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 953357157919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A special kind of dance named 'Cheraw' is performed by the people of

Options :

1. Assam



2. Mizoram
3. Odisha
4. Jharkhand

Question Number : 71 Question Id : 953357157919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Options :

Question Number : 72 Question Id : 953357157920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

On the map of India, if you draw a straight line AB from Kolkata (capital of West Bengal which is point A) to Puducherry (which is point
B), then the direction of the point A with respect to the point B would be

Options :

1. due south
2. due west
3. south west
4. north-east

Question Number : 72 Question Id : 953357157920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 953357157921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Name the female athlete who started weight lifting at the age of 12 years, succeeded in lifting weight of 130 kg and won 29 medals in
international events

Options :

1. Sunita Williams
2. Wahida Prism
3. Bachhendri Pal



4. Karnam Malleshwari

Question Number : 73 Question Id : 953357157921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 953357157922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A tourist boarded a train on 10! November 2021 from Ernakulam Town to Vadodara. The train departed from Ernakulam Town at 22:40

hours and reached Vadodara at 14:10 hours on 12" November 2021. If the distance between the railway stations of the two cities is 1896
km, the average speed of the trains during the journey of the tourist was

Options :

1. 96 km/h
2.72 km/h
3. 48 km/h
4.36 km/h

Question Number : 74 Question Id : 953357157922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 96 km/hr

5 72 kiv/hr
3 48 km/hr

4. 36 km/hr

Question Number : 75 Question Id : 953357157923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A group of spices whose every member is grown in Kerala is

Options :

1. Black pepper, turmeric, tejpatta

2. Tejpatta, black pepper, cardamom

3. Zeera (cumin seed), red-chilli, tejpatta



4. Zeera (cumin seed), black pepper, cardamom

Question Number : 75 Question Id : 953357157923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 953357157924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In relation to EVS, the child looks at his environment

Options :

1. into its segregated form.

2. in a holistic manner.

3. in its simple form.

4. into its theme form.

Question Number : 76 Question Id : 953357157924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 953357157925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Curriculum of EVS has been designed

Options :

1. on topics.

2. on syllabus

3. on themes

4. on topics and syllabus both

Question Number : 77 Question Id : 953357157925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 953357157926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

NCF-2005 views EVS in classes III to V as a subject which integrates the concepts and issues of

Options :

1. science and social science

2. science, social science, language and mathematics

3. science, social science and environmental education

4. science, social science and languages

Question Number : 78 Question Id : 953357157926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 953357157927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following challenge/s may be faced by the EVS teacher in his/her EVS class?

A. Multicultural dimensions of his/her class
B. Feeling of each and every student
C. Everyone's community, culture and way of life

D. Class room discipline and it's management
Options :

1. A and D only

2. B and D only



3. Cand D only
4. A, B and C only

Question Number : 79 Question Id : 953357157927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 953357157928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most appropriate objective of teaching EVS at primary stage is to

Options :

1. develop descriptions and definitions of the various concepts of EVS

2. provide lot of space to students to explore his/her environment

3. facilitate students to learn the concepts of EVS

4. encourage students to learn EVS through concrete informations shared by the teacher

Question Number : 80 Question Id : 953357157928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 953357157929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Family and friends in EVS curriculum is

Options :

1. theme



2. subtheme
3. topic
4. syllabus

Question Number : 81 Question Id : 953357157929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 953357157930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Meaningful EVS learning can only be made possible if

Options :

1. student's local experiences are related to school experiences.

2. school knowledge is used in the construction of knowledge

3. student's local experiences are not given due importance

4. trained EVS teacher's experiences are used.

Question Number : 82 Question Id : 953357157930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 953357157931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the learning of EVS, activities conducted by the teachers should be followed by for authentic and meaningful learning.
Options :

1. discussion

2. listing of activities

3. learning the steps of activities

4. recapitulation of the activities



Question Number : 83 Question Id : 953357157931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3517, 1 v o fererent 2T fore, T, TS 3 AT SO v v foe 29
=7TET)|

Options :

. T femst

. e
3 TohAT-SheA 4] o6 =0T T8 AT

Question Number : 84 Question Id : 953357157932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Learning through group activities is performed in EVS classes because

Options :

1. it provides peer learning

2. it improves social interactions among students

3. it provides and improves peers and social learning among students

4. students only demand group learning

Question Number : 84 Question Id : 953357157932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 953357157933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following indicates skills process in learning of EVS?

Options :

1. classification

2. description

3. statement

4. recall

Question Number : 85 Question Id : 953357157933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 86 Question Id : 953357157934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most appropriate objective of promoting parent's and community's participation in the learning of EVS by students is to

Options :

1. provide an opportunity to teachers to know the student's socio-cultural background.

2. follow the recommendation of national policies.

3. maintain discipline in the school.

4. know the students and guide them in the learning of students.

Question Number : 86 Question Id : 953357157934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 953357157935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The challenges and issues in EVS class at primary level can be very well addressed by

Options :

1. lecture and discussion

2. free debate

3. lecture and demonstration

4. debate followed by discussion

Question Number : 87 Question Id : 953357157935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 953357157936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Qualitative assessment of children's learning in EVS can be done by

A. Record of children's ideas, observation reports
B. Observation of process skills
C. Paper-Pencil tests

D. Achievement tests
Options :

1. A and B only

2. Cand D only

3. A, B and D only
4. A, B and C only

Question Number : 88 Question Id : 953357157936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 953357157937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is a formative assessment tool in EVS?

A. Portfolio
B. Anecdotal record

C. Rating scale



D. Observation and recording
Options :

1.A,B&C

2.A,B&D

3.A,C,&D

4.A,B,C&D

Question Number : 89 Question Id : 953357157937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 953357157938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“Drawing pictures of animals using fingers and thumb prints”
X

In the above line, identify (X) and (Y).

(A) Xis verb and Y is noun

(B) X is action verb and Y is content

(C) X is cognitive process and Y is content

(D) X is content and Y is verb.

Options :

1.B, Cand D.
2.A,Band C
3.B,Cand D
4.A,Cand D

Question Number : 90 Question Id : 953357157938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 91 Question Id : 953357157940 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2

3.3
4.4

Question Number : 92 Question Id : 953357157941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2

3.3
4.4

Question Number : 93 Question Id : 953357157942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 94 Question Id : 953357157943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 95 Question Id : 953357157944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 96 Question Id : 953357157945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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3.3
4.4

Question Number : 97 Question Id : 953357157946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 953357157947 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

+fadis prew wa ule TR vREr e fadn =
ST I 2T (@A FRfE?

1. Tigfe RemmeE
2, &% TEY Q2T FBEAT (HE TE
3, «f<B5wE

4, (IHE O ZEThE
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357157948 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘censifEe *FGE e wife ¢ryedr

1. (2 + eonfesp
2, 9+ (I + 3F
3, YOI + 2%

4, GO + 3T
Options :
1.1
2.2
3.3

4.4



Question Id : 953357157939 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (91 to 99)
Question Label : Comprehension



forrel: weTe vl qRATee TG Al O weTe ol (ASTEe TR WIbRele €% Teas!
s =i

Aregre WTE @[ A Aoz SfEET g TEi o o F senRerTEz i 23 wede
= faqe 2fed rore e TEE s bAw @ WeE Aedw 4 wEad wEE I
947 T 2129 2T J2R TRIERE TAfe T AW vAeEE KR8 sAREE Fe gieam
=

g arofeme U @ @R @EE WE [EY Aedw I GFE AT 5@
Swenee fem st foare =@ w29 R 7o o @2 e gEer s meR
(AT DARENA (FI 4999 (9 NGA I (@A, Frare sis Fame A (5w
ZoTe e (@I G TERTe I @, e @EE @EE WA @y shEe @3 a2
TRz foare % B «iar sfves vz e e o =@ ada sf@@q ane e
Jgrel TOAWE W @R (2o weife Feedber e @ @ @eEeRbesa (Magneto
reception)d FZWe HAI2AIE Bizes «ifex fir facfa st = =3

@B Ao tE O @bt UEte, i amfee pEEE oFEe AT 9HE onE, 93 sAfHEee
TS T SE =& 9F AT FERR CF@BI T AE) 2 HEERe twel W fgladae
T FE| I TEE2 YREE (T AT WA AE A 2AE WO AW S ITE A
Toige e T BEre $H9 A Fite REe R (Fae A4 (@9e i TR @iee
Are 79E, 9% e @i sagme Tame =ifig o9 5929 gEen (Fae A add e
o1 WL TR g FH GERT AFE (G F0E 6 S T4 27

ABA 4l TeIeE A9 PIREE AT TLFE 2T WEWe 2399 A FeHAfTe 4
oifete ererEweE e 490 92 A W@ AR AF Aem AW q20@E 9w @6E, BEend
Feferet YTt va2e Haw T 9te) 990 (OSETE I (rIEET A9 ofeanE eEEE
S (S FE9 2gE I w4 Afem  _{EERT We @ 79 wE9 I0E GAREE A2d A7
@R OF e HRes @ oot wteifem (of ofifen @ @R e fegwm v o

el S e =@ va120E A Tea T4 AgEe 9I9est 3 *fesrors e @)

sgeme wwae Fe i fdfas g saRwEEe [fen Soimiem w2 @ Saegerras, 4fEee
FERE CFTe, X GF o9 wggE O F o e REnher e e $E @
bAIRGAS FRSE Sied weEe 49 g oFa fvife S e Grees e el fada /[
=3

Sub questions

Question Number : 91 Question Id : 953357157940 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



HroFETe IS (FART Y91 BAREE FIEE (ZRR FROF
A fogam af g=d =i | e fooae wae SEe
T (6] TET ATH?

1, (559 491 T=T FINC TAIBEIT 92T o[ (T
2. fogm sam «if w0 =f* fewe oW sa=eE
3, TAREES pR (FEF Sf<9e I6E 49 wfE AT
4, ofeTmE PIREAE W (AR e oA A
Options :
1.1
2.2

3.3
4.4

Question Number : 92 Question Id : 953357157941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1, 3% *fegre
2, b “fEFTS
3, (@RS *feTre
4, =fs &5l e
Options :
1.1
2.2

3.3
4.4

Question Number : 93 Question Id : 953357157942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ao e (@EE T ez R e 3me g oS
TSR B TR (@@ AR @RR IR
7

1. S s22ER Few orite Tl I
2, Sf<=s va3tanE Ee o T slgTw TeE =

(Firare Y 27
4, TR = HAroT FEE HIHEEE 9T T (T |
Options :
1.1
2.2
3.3

4.4



Question Number : 94 Question Id : 953357157943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘CReTCes RD%6H (Magnetoreception)fs?

1, pRON (FE9 Aqged 99 9199 49 9T Aw©
2. TEIgES gl F9s A T T TEe
3. RITER THO WS TAF AT T 4T 7F S
4, PRI (FOS S9TEe UBE 7F OF HE@e
Options :
1.1
2.2

3.3
4.4

Question Number : 95 Question Id : 953357157944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“Freve 43 pEeE oFas A9 @ g AR @R
olg EE, 99w e (SiEe uesme GEme wihE
Rl [

1. farern
2, (AEF ==
3, faarss =9m
4, Taverae
Options :
1.1
2.2

3.3
4.4

Question Number : 96 Question Id : 953357157945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“TEIOE F DARENE €9 IeFE IR WEme A

T TE wEE” |
1, %=, 9, A

3, e, e, g
4, SR, S, FERq
Options :

1.1
2.2



3.3
4.4

Question Number : 97 Question Id : 953357157946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“EEE (IS WIS UEY WeGd € TR Aol A

TEREE )

e TRAEE AR ARG T w4 |

1. O1F S9T T

2, (IR Wed W

3, Hewenae e amn! e v=

4, FAeTengs foes FoRm vazeEe ot Semm

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 953357157947 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

+fadis prew wa ule TR vREr e fadn =
ST I 2T (@A FRfE?

1. Tigfe RemmeE
2, &% TEY Q2T FBEAT (HE TE
3, «f<B5wE

4, (IHE O ZEThE
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357157948 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘censifEe *FGE e wife ¢ryedr

1. (2 + eonfesp
2, 9+ (I + 3F
3, YOI + 2%

4, GO + 3T
Options :
1.1
2.2
3.3

4.4



Sub-Section Number : 2
Sub-Section Id : 9533579525
Question Shuffling Allowed : Yes

Question Id : 953357157949 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

foreret; Fargre </ miee were o enpTes WIsRelE g

g =i e

T fo=rd w3 gt
&l TwTT W,

siem Beg TH g e
[ed AATAL T

T A R T 4
HeAe St fF,

e w9 Tefomt G
o Tw sFwgeat )

TS PATS 7z Gl
MR (9 WEes g4,

H[ATS CEgH 7 foes
Trgeia fte Fewl 2f)
IF (@ oofe Tz,

(A S5 (T FIEl wE

9 T2 ToH?

Sub questions

Question Number : 100 Question Id : 953357157950 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



GRS TH AT FE RGO FIAE €29 AT
Cd FieE

1, FCAR S

2, TRE 7

3, qGEEq «ferrE Ty

4, TF) IF ¥R TA o0 FEAAE 2
Options :
1.1
2.2

3.3
4.4

Question Number : 101 Question Id : 953357157951 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

-

“TTE TURT TR GEE/A0E (W wEee gL €3
AT TS (ZE FRAFFREY (30T -

1, ¥
2, Tl
3, A
4, oaeE

Options :

1.1

2.2

3.3
4.4

Question Number : 102 Question Id : 953357157952 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fefgs (s FNdpE wNd 79 -

1, GAIerE 2fFel o1
2, (AR 2 2wl
3, TEEE B T4
4, SO 2wl

Options :

1.1

2.2

3.3
4.4

Question Number : 103 Question Id : 953357157953 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



FgmgTs sk T etz

1. TERF 791
2, S99
3, (e TfEe

4, T Al
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357157954 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

<fag 7ol (@i = T 2= T

2, UF HIH GER
3, Loz

4, TGOIR
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357157955 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

el *=re e rodE =l (30E —

1, =yefer
2, e
3, T

4, fao=
Options :
1.1
2.2
3.3
4.4

Question Id : 953357157949 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension



fow: fge o/ AT TEe T eepTEs whReE oYe

gt 9 e

T ot w3 frg =g
&l TwTT W,

s BEd T g wgTe
[eq AATAT T

St AT 7R w4
FeES Sl fFa,

T FeE (9 Tefomt G
T Tw sFwgeat 4]

Tz PATS 7z Gl
MR (9 WEes g4,

TS CEgH 7 foes
Tge W Aemw 24

[ F72H G FdforT gif
IF (@ oofe Tz,

(EIEl GHIE (A @A wfem

S ¥ oY
Sub questions

Question Number : 100 Question Id : 953357157950 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS TH AT FE FGCC FICT [F29 AT
Erd Flaee

1, TR ST

2, =9 (719

3, LRGN «lTE Hyg

4, TR TR FOYNR T 4 FEAS e
Options :

1.1
2.2



3.3
4.4

Question Number : 101 Question Id : 953357157951 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“THTe U YAT GI9E/A0E (I SEee ¥R @3
HMITRE LTS (2 FEFFEEY (2T —

1, o<
2, Tl
3, TEH
4, foo=m

Options :

1.1

2.2

3.3
4.4

Question Number : 102 Question Id : 953357157952 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

T (s TN wwd 279 -

1. (IeR et 5
2, (AR TEe 2w
3, W ZI9 T

4, WD 2wt
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 953357157953 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fy-miee sl o foifafee?

1, WEEF 9
2, s/=F
3, (9= TE

4, Twis Al
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357157954 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



FM4g 7@ (@ 4 e 2R e

2, T HIF GEZ
3, ez
4, GEER

Options :

1.1

2.2

3.3
4.4

Question Number : 105 Question Id : 953357157955 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T e E oo o 2T -

1, T
2, et

3,
4, faee

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 9533579526
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 953357157956 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

firraR (EdEcR e dfe melie =97

1, #ETTES ©oe T FEERES ofo

3, fgaE < ey TEee wdez o1

4, Bram < ferrewany @& @49z 27
Options :
1.1
2.2

3.3
4.4

Question Number : 106 Question Id : 953357157956 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



fireraR (EEdEcs TR dfe aelie 297

1, #%TTES Soe S FEEES dfe

2, Téete o <=1 FrdEEs ofe

3, figae < fwges T 9de9z =

4, it < Frrewene i 9449z o9
Options :
1.1
2.2

3.3
4.4

Question Number : 107 Question Id : 953357157957 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

2 ARe RF-E T T @A IR R IR T e T @@ T

1, T =5 =@ A Wy

7, ‘%_:l Bk aTEﬂW?ﬁrﬁr

3, TELAT Ol 4 ATy

4, Terrageag o 91 g wigw o
Options :
1.1
2.2

3.3
4.4

Question Number : 107 Question Id : 953357157957 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Al TS E-E T TR @ TS TR TR ShEE e © @E Eer

1, g w== o a1 wrger
49 e mmm%ﬁs}
3, FH O 9 ITgeE]

4, Terrameag o 41 e Wi o
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357157958 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



s foal IfEE (Fae (@wE Feg vw ammr
“EWEl %W, e S TwEE A aive e e 7

1, % T AR 5107 T I
3, Y19 WU A

4, =FHEE % T

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357157958 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

oFe Wl STG0E (FOT (R0 TRy wm 7287
“GIE A, ST W BwEE 918 v wE g

1, *% =@ 99 509 Wo 918
3, 2o NGTICE eI e

4, *HEH i ==
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 953357157959 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

firses firedeq wryrm 7 907

1, OIHTE SHIESIE SEE SR IS Faq g G wiea
2, Tereaes sere gy <jidy <1 T =gz (9 (oi0E Sifeate
3, Tereare e foige ofigar wisiEDpis e 72w S99t Sinl T99 F=E
4, @GR oft fies oW @S e e < e T
Options :
1.1
2.2

3.3
4.4

Question Number : 109 Question Id : 953357157959 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



firste fees FoRm f6a <097

1, (HABTS WHRSIF TELE SEN TS F49 AR @7 wieaiE
2, Terezeg wigre o widey I 76 SwieTg (9 (ong wieEE
3, Tewsre e feme o =sEpE Tare wem 49t winl S499 =
4, EAHR ot fies oW @S e e < T T
Options :
1.1
2.2

3.3
4.4

Question Number : 110 Question Id : 953357157960 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

oo e OB BETe TU FECT A0 MG TEE 4w GEIR T0F | 43 o Fan 5 —

1, /4 ##=Y (Code switching)
2. o1&l @9 (Code mixing)
3. TEEFel (Multilinguliam)
4, WFSl ¥F (Competency level)
Options :
1.1
2.2

3.3
4.4

Question Number : 110 Question Id : 953357157960 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e e OB BETe T FECT AT TMG TR 4w ALk T | 43 o Al 5 -

1, S/ ##=Y (Code switching)
2. o1& @9 (Code mixing)
3, TgeifEesl (Multilinguliam)
4, wFel B9 (Competency level)
Options :
1.1
2.2

3.3
4.4

Question Number : 111 Question Id : 953357157961 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



firetg wneT =T TEE 99 9 FgwE 9@ 9t 9@ 93 F9 20 -

1, 29 =i
2, TEAE T4
3_ GED

4, T ST
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 953357157961 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

freste ars e TraE w9 F0 fegaE =ip =i 9ife | @2 w1 -

1, B9 S
2, SEAE FH
3_ GEG
4, FEE WEEE
Options :
1.1
2.2

3.3
4.4

Question Number : 112 Question Id : 953357157962 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1, SETISTS BT S
2. T = e 21 comeTn
3, ®I0 pgal fegwm c@iba

4, FoI A ST
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357157962 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



were foral (st S e WetE Tres 9N OiF 9T W2 SE7

1, TETRTS FCAT T
2, &9 =5 Hmea 9 corEEn
3.9 72 P n?i“it-"gﬂ CNGIITE
4, S5M® A SR

Options :

1.1

2.2

3.3
4.4

Question Number : 113 Question Id : 953357157963 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o Feie ws foa waem o9 S woe Twmd T (F0E FEE ABREE ey’

2, FREIE BT (2l S SAARS S TE e were 5@ waw e

3. TéRereeq w0 ArF=! (Visual literacy)

4, Fomieae FEIeETe OF RFeEas T 9% IHEYS *F @ErT F3E FE
Options :
1.1
2.2

3.3
4.4

Question Number : 113 Question Id : 953357157963 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR e e oa werEem o9 T v T I (FEHR TR AbReE ey d?

1, BN = e EEETE AHSAEE (FOe a3 72T FE
2, TEEIrE (BTl (A2 S waIEIes (e TG e T4re baz #73d oF
3. Ferer=eg 70 AT+ (Visual literacy)

4, ﬁfiﬂﬁm *P\..{i\ﬂ]-&?rrf.*ﬂ IES ﬁl‘d“d?&vlﬂ | Sl SHEES *[F5 (@FEre A2 $0E
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 953357157964 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



AYANE s o s el Sonern S o = fees T (ATE B |

1, FAIEe] eMeRTay
2. = f‘s?ri?{
3, Gige Wl

4, sifstarge w=el (Kinaesthetic skills)
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 953357157964 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AGATE e o e el $onern 1 (o e fees < Y T

1, FIZ) e*EHAEg

2, SEE S

3. GiEe Tl

4, sifetaIqs Wl (Kinaesthetic skills)
Options :
1.1
2.2

3.3
4.4

Question Number : 115 Question Id : 953357157965 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“grgl T 91 TeseR TR WwEe EEeene futee o= O wEe ofrmEe Gt @EE wEs e e
qEre Here o |

g3 el (e Eiane?

1, 9 a7

2, (I BRI

3, fore Q255
Options :
1.1
2.2

3.3
4.4

Question Number : 115 Question Id : 953357157965 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



“gral firgee 1 wzReE FiEe FeEe (Eeeeg Mt o 9e ekl afguies Fefe @ee wiEz e fiug
Tere Ee 77

— 43 TEn @eEd oEiEwe?

1, Tasfe
2. G SR
3, fore aRs5=
Options :
1.1
2.2

3.3
4.4

Question Number : 116 Question Id : 953357157966 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TALTENT T frEER (o Tae oEmd T (@ wE a?

1, FIF (ST SR ST T TEE F40

2, P 2L TR WEOT AT FraeTz e ==
3, 9T AEEEE @A TEIRT Fi7 IS F=EE W
4, SEEEE T A ALAAR THF Sl e B

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357157966 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS frEER (o Tae oEmd T (@ wE a7

1., F5F @EGETE TR EAT TG TR T4

2, SN2 &S TS DR e frem wwia ==
3, AEE SEEEE (@A TEIT F9 I F=EE W
4, SRR A eI AGAIL §4E Tl AR

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357157967 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



ArEqo WEECE FEE O W (@GS fsfe @rE She?

1, wes® AooTe < wesTel
2. R <Y Wi A iEesad
3, T ease (decoding) =< B[R FIGAIL (comprehension)
4, TFS G @S GGG
Options :
1.1
2.2

3.3
4.4

Question Number : 117 Question Id : 953357157967 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Al WELeE S0 OEe T (@ ehTe fste (e The?

1, 5T AGoTe @ TasiEe
2, Tl =T W e e
3. oaEeeae (decoding) 9% O SIFGE4H (comprehension)
4, €EHS T @S TEEIGe
Options :
1.1
2.2

3.3
4.4

Question Number : 118 Question Id : 953357157968 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e o i ofBR el Fiyw T oYfe o9 T @9

1. IT (2 e )
2,97

3, TUNEE oYfE
4, GG #Yfe
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 953357157968 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :



forre ol e ef G e WidE FHElH gYfes o9 ST a2

1, IT (=25 =Rffe <)
2, 96T

3, TS ofE
4, GG 2ghe
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 953357157969 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1, ¥9498
2, (GFEAE
3, TEES 91 TuEE &

4, @D =
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 953357157969 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fermdliq fieas TeEeR TR I929 =91 W fAdee wiEes & 3 o

1, <98
2, (GFEE
3, TgEF 1 T @

4, fbe o=
Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357157970 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



FFIE TEW FE S TES Tl (TGS AGT WY E?

[
3
[C]

4, THR
Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357157970 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T[EIE AW Y e0E weTe il (Fehre wfke vy fmar

1, @&el

2, e i G

3, Howw

4, THE
Options :
1.1
2.2
3.3
4.4

Language I1

Section Id : 9533575497
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9533579527
Question Shuffling Allowed : Yes

Question Id : 953357157971 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No
Question Numbers : (121 to 128)
Question Label : Comprehension



ferrer: fersatare siesl oite HeEE erasa Foe Saa WEoa e |

%% qeR O R RAAGE TEfew | Qe wE e wmm T@ ) WA G AeEe
FACT TH |

Tafews Temm am e oidfie fromal wide Tgfrema 34 ¢ fem W @@
fe2 @2 a1 oo sfiwe o, AoE O (oue WeaE @6 e oan e
TMEENST (W , OF 792 =g g4 w7 Ty wowewrs, Fom Twem so2w
whmE-ATe 349 I O A == IS A A, G 4 @A A T
| frem dewacew aew @ SEE B g9 T e, e S -
GRS 74 B1 R A T fom aifewm woq W, oE @R FREAtTE 9O =W
Te, fTo@ ) (T4 iR (Fiea = 2@ (7 fgmaitE, 9E esifieE W 20,

(7 SIS FATF (A WA T ALSAACE (@ (7 el AR 7, afe T@ofret
@7 o7 ¢oF o RERE 3@ 0 voe ) T% T O ¢RY T, @9 oS
GIrEd TR - FAT (AT O ST Y= AE, O (7 A A, T @ o owe
ferer m Fgifaat FiEar, aro srefETe e

FERE A TS T IR 7, A AT ©F Tk FAT F20S AR A1 O
T AT AN, 27 WO T A2FW FOAA (R A GTARA OF A, 949
o T T27 9T | G99 T @301 A AW @ =il I5ha | o o fae
TR T AR, AG@OIT BT TG WG T3 W R | T OF o
v Tt foret T, 56 o, arie wi0w ¢ 2 A7 WS 3 ATT 217 SR
a2 eiee S @ @

Sub questions

Question Number : 121 Question Id : 953357157972 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1, T
2, T
4, T

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357157973 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



e 2dag Apa (W [eeradft acare?
1, g4
2, AWSAF
3, *raef
4, FreErEeh
Options :
1.1
2.2

3.3
4.4

Question Number : 123 Question Id : 953357157974 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FE SIE G GO T L7
1. frgeaia
2, T®AY
3. %‘1 #2e W'::;T
4, (eiifEre g9
Options :
1.1
2.2

3.3
4.4

Question Number : 124 Question Id : 953357157975 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e (e el ey 7
1. 741 T2=; forel Twe
2 G| FEISE,; T4 =40
3, 51 =g, frer cofraae
4, 1 R ;oo e
Options :
1.1
2.2

3.3
4.4

Question Number : 125 Question Id : 953357157976 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1, 74E TG

2, Terem 2@ ¥o=

3, 74 forom wifde el
4, Terem =oraef

Options :
1.1



2.2
3.3
4.4

Question Number : 126 Question Id : 953357157977 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g e OIS (@R, TF -
3, G YRR TN A

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357157978 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR ACEH e T Feg 7, O FHILF O A
T30 S W ¢ - aff @ wrew

1, 7FE

2, EioA

3, (e

4, fim
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 953357157979 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR &WE BRI *-(H0ed (1 *% H5 #TEd
Redres?

1, Teger: ToEE

2, Tom meme s

3, FWEAIHAT g
4, RS- 24
Options :
1.1
2.2

3.3
4.4

Question Id : 953357157971 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension



ferrer: fersatare siesl oite HeEE erasa Foe Saa WEoa e |

%% qeR O R RAAGE TEfew | Qe wE e wmm T@ ) WA G AeEe
FACT TH |

Tafews Temm am e oidfie fromal wide Tgfrema 34 ¢ fem W @@
fe2 @2 a1 oo sfiwe o, AoE O (oue WeaE @6 e oan e
TMEENST (W , OF 792 =g g4 w7 Ty wowewrs, Fom Twem so2w
whmE-ATe 349 I O A == IS A A, G 4 @A A T
| frem dewacew aew @ SEE B g9 T e, e S -
GRS 74 B1 R A T fom aifewm woq W, oE @R FREAtTE 9O =W
Te, fTo@ ) (T4 iR (Fiea = 2@ (7 fgmaitE, 9E esifieE W 20,

(7 SIS FATF (A WA T ALSAACE (@ (7 el AR 7, afe T@ofret
@7 o7 ¢oF o RERE 3@ 0 voe ) T% T O ¢RY T, @9 oS
GIrEd TR - FAT (AT O ST Y= AE, O (7 A A, T @ o owe
ferer m Fgifaat FiEar, aro srefETe e

FERE A TS T IR 7, A AT ©F Tk FAT F20S AR A1 O
T AT AN, 27 WO T A2FW FOAA (R A GTARA OF A, 949
o T T27 9T | G99 T @301 A AW @ =il I5ha | o o fae
TR T AR, AG@OIT BT TG WG T3 W R | T OF o
v Tt foret T, 56 o, arie wi0w ¢ 2 A7 WS 3 ATT 217 SR
a2 eiee S @ @

Sub questions

Question Number : 121 Question Id : 953357157972 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1, T
2, T
4, T

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357157973 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



e 2dag Apa (W [eeradft acare?
1, g4
2, AWSAF
3, *raef
4, FreErEeh
Options :
1.1
2.2

3.3
4.4

Question Number : 123 Question Id : 953357157974 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FE SIE G GO T L7
1, Tageritzean
2, T®AY
3, et e T
4, (eiifEre g9
Options :
1.1
2.2

3.3
4.4

Question Number : 124 Question Id : 953357157975 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

RS (e Hete W wwr
1. 741 T2=; forel Twe
2 G| FEISE,; T4 =40
3, 51 =g, frer cofraae
4, 4 ST (NG S e G
Options :
1.1
2.2

3.3
4.4

Question Number : 125 Question Id : 953357157976 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1, 74E TG

2, Terem 2@ ¥o=

3, 74 forom wifde el
4, Terem =oraef

Options :
1.1



2.2
3.3
4.4

Question Number : 126 Question Id : 953357157977 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Horgie 9900 OT9 Y (@, TF -
1. %'\:-'!E. <[] % [k Ql::":] (A7)
2, ¥ & AR
3. AE FEERE N TR
4, am ==
Options :
1.1
2.2

3.3
4.4

Question Number : 127 Question Id : 953357157978 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR ACEH e T Feg 7, O FHILF O A
T30 S W ¢ - aff @ wrew

1, 7FE

2, EioA

3, (e

4, fim
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 953357157979 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR &WE BRI *-(H0ed (1 *% H5 #TEd
Redres?

1, Teger: ToEE

2, Tom meme s

3, FWEAIHAT g
4, AEOAF: 2=
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 9533579528
Question Shuffling Allowed : Yes

Question Id : 953357157980 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (129 to 135)
Question Label : Comprehension

ferprsl: famfeiare sTaiei 7w 7eEE eeafa Aie Soa fdva o

o 355 | famrta Afferam 2 Feifs #fafoe omm e | $fEre =g,
o= T o =2 wrefime @etie Jra @b F6 ord, Te G=9e 71
sifcaiee | ©i2 O3 FeAifba Fex ©ig FF q002 | T4 (T (FC AT
T, T G5 o2 o 21 (7 A2 (T, THF 0 it oS | wd
a3 (TR T B0 ERTITT @I ST e | IEeiies Foa
FGT (ST SifFsm 39T o 7 (Sob) o T9@- 5 @1
(T | LIV (2T VIHFOF 25a120o0s (arsl g 2wy forswe
AT LR (FHE e | JYAH SR A2 #IF I @ceE
(BTGl FTHCOTE AT WACIECE A G | S 7oa Wiies
@I (ol R @2 YT ey 1 Foneifera fre it e w9 qufs
¢oiteT | Tofel At =B 20 |

TS FYZ FE ATEA 0 TO1F (FE (@FCS! | GOV (T (A
A WHFOIR TTAGCE I W6 OIF | TG I T (S G FEA
‘@C (e TR | WF IR @R AREEE @ S g O
qr@ S AT (76, ©f F912 T | @S fAues Wy Wi +E
oI W@E, FIE WG GeAw | AfEE Srere FF A O A | 9@, OF (AS
0T WA, VAT ATONE WIS T2 IS | I S AreE 0%,
(=reef® | O@ 92 T TAET A AFE T

J4EF AT WM AT [ra el (oI FAE e (oEiEEa
@I |y TR (o A o gee | orE Rt Aghe TeeEeE
“Begd (7 AR FIF-FE oon Arge | o[ @3 (Ao e fgm efd
77 e | fafit® wrasima s Siee 99 e @Eel | 92 w5 O
A4 (1 2ifes= FHIEIT O €1 GF 93 ©IeE bE W@ AgHE
IO | FesT® FREE (@FET TR ARG FHIAE ST A7 16
(TR TS COE | ©F Sid «2 SIEwe gy 280 1 «9F o732 8¢ faf s
e T AW T @eie (5 - o) TESEd v RS stgar
SIS @1 (40P YA (26-9 AT S500F (0 (7ta (e
@ (5 - )1 (B0 T WE WG (@ | GF9T A S FAET T
fafes (va «zare Tow Areeiia wret St fofa ) e 7= et
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Sub questions

Question Number : 129 Question Id : 953357157981 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



(FEATET S350 (S0 0@ (@S T (@IS OIgEe?
sifee g
%‘6 e =
@arHe
4, =ifsr wfg
Options :
1.1
2.2

3.3
4.4

L L L

Question Number : 130 Question Id : 953357157982 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

eferamaoa (F@E S [H9b F7
1, A (TE-rel 2T @aeE FY-Ee e A
3, 5> FHNG ERFh-Srie Twe s e <@
Gl
4, AEfTE TG AT THaEE T ST v

BIE
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 953357157983 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

(elEmreR SifEeT e (@ 739 w5 3 o, oW =i
(ST 72T @ Toel?
-

L o B
e
w
&)

. S0®

4, 9
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 953357157984 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



SO (AT TE @ACTE YRS Hied TG 94 (@

.

S T?
1. (rc_“lﬂr
2, (& wiEe
3, T arE
4, IS E0EIMA
Options :
1.1
2.2

3.3
4.4

Question Number : 133 Question Id : 953357157985 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

OIS *[HIq HF GEn FEE 24 —
1., & + ':l'qufle
2, #E + WES

3. .ﬁﬁ + = '\f{t
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 953357157986 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FAG - «F HEEe T (@
1, FEAfETe
2, A
3, HEATEH

4, AL
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357157987 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e TS I 7 S T - Ao THLF A
N FAREe FAE 24 -

1, S, A& SIGTs TG = STA Al

2, AT et AFEa2 S |

3, TEE STTTE T AR O T

4, W& I SEFA2 A |

Options :




1.1
2.2
3.3
4.4

Question Id : 953357157980 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension

ferprsl: famfeiare sTaiei 7w 7eEE eeafa Aie Soa fdva o

o 355 | famrta Afferam 2 Feifs #fafoe omm e | $fEre =g,
o= g (o w3 wefime atie g aob T@ e, e Gae 7
sifcaiee | ©i2 O3 FeAifba Fex ©ig FF q002 | T4 (T (FC AT
I, ©IF Y5 212 e fGF | (7 T2 @1, Tamis o e wwe | o
a3 (TR T B0 ERTITT @I ST e | IEeiies Foa
TGS (EmreR SiFTE 2qneE 9fF Wit (sob) S FaE= 5 @R
(T | LIV (2T VIHFOEF 25a20o0e (arsl g 2wy forsae
AT LR (FHE e | JYAH SR A2 #IF I @ceE
(EIG! TTHTOTTA AT SAEIIECE A G | WS woea Wisies
@I (ol R @2 YT ey 1 Foneifera fre it e w9 qufs
¢oiteT | Tofel At =B 2 |

TS FYZ FE ATEA 0 TO1F (FE (@FCS! | GOV (T (A
A WHFOIR TTAGCE I W6 OIF | TG I T (S G FEA
‘@C (e TR | WF IR @R AREEE @ S g O
qr@T SIS A (T, ©f F912 T | @S fAues Wy Wi (+E
oI W@E, FIE WG GeAw | AfEE Srere FF A O A | 9@, OF (AS
0T WA, VAT ATONE WIS T2 IS | I S AreE 0%,
(eree® | O@ 92 FEE TAET A0S AFE

J4EF AT WM AT [ra el (oI FAE e (oEiEEa
@CET | e TG (o s Agee | S e agtE Tgeeed
“Begd (7 AR FIF-FE oon Arge | o[ @3 (Ao e fgm efd
77 e | fafit® wrasima s Siee 99 e @Eel | 92 w5 O
A4 (1 2ifes= FHIEIT O €1 GF 93 ©IeE bE W@ AgHE
IO | FesT® FREE (@FET TR ARG FHIAE ST A7 16
(TR TS COE | ©F Sid G2 SIEwe &gy 240 | «F *F2 8¢ i s
e T AW T @eie (5 - o) TESEd v RS stgar
GRCTE &1 (TP YAG (28-d WIEACET S0 (A0 (0 (e
@ (5 - )1 (B0 T WE WG (@ | GF9T A S FAET T
fafees (e aoare Tuw Gmefia wre sliEs fofa ) waie 9= wifaiEe
@ WfEe | 4 (@u-a wF SIS g 28 @@ (2 - )




Sub questions

Question Number : 129 Question Id : 953357157981 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

(AT S0 (D T @ITE TG (FFC SIETE?
siifee gy
@I
4, =IIfe W
Options :
1.1
2.2

3.3
4.4

ko

Question Number : 130 Question Id : 953357157982 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1, FEIT (Ie-arel f2eme @aeE Y@@ 7S

2. GOTT (U @RI E70F 2SI20000 Leyaed
3. 335 2o Tt e wvE Biee Fam T=e
fermre

4, T TIEFGT 2feTF FHIEE TEl CTNF T
=
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 953357157983 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

(SIE-Se T e
533
220
Ty

4, 9
Options :
1.1
2.2
3.3
4.4

L e L

Question Number : 132 Question Id : 953357157984 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



SO (AT TE @ACTE YRS Hied TG 94 (@

.

S T?
1. (rc_“lﬂr
2, (& wiEe
3, T arE
4, IS E0EIMA
Options :
1.1
2.2

3.3
4.4

Question Number : 133 Question Id : 953357157985 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

OIS *[HIq HF GEn FEE 24 —
1., & + ':l'qufle
2, #E + WES

3. .ﬁﬁ + = '\f{t
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 953357157986 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FAG - «F HEEe T (@
1, FEAfETe
2, A
3, HEATEH

4, AL
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357157987 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e TS I 7 S T - Ao THLF A
N FAREe FAE 24 -

1, S, A& SIGTs TG = STA Al

2, AT et AFEa2 S |

3, TEE STTTE T AR O T

4, W& I SEFA2 A |

Options :




1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 9533579529
Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 953357157988 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘“EF-/i."i: ‘“ﬂﬁf I HHD ﬂa,i;"ﬁ'ﬂ ?‘H’Z'!F G'Gﬂ r:l-q/]brl T |

T g e (@ S TE ANE, I O A HfEEE OnEd Smie-awe -
1. o feene «a2 e Aty A g A2Ee 28
2, ST (JEE TG O R ST 5 9w
3, GH STe] W < 2 FF
4, ©rg fem aere (Aee Fiewe 90EE o (R JEE 960
Options :
1.1
2.2

3.3
4.4

Question Number : 136 Question Id : 953357157988 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘“EF-/i."i: ‘“ﬂﬁf I HHD ﬂa,i;"ﬁ'ﬂ ?‘H’Z'!F G'Gﬂ r:l-q/]brl T |

T g e (@ S TE ANE, I O A HfEEE OnEd Smie-awe -
1. o feene «a2 e Aty A g A2Ee 28
2, ST (JEE TG O R ST 5 9w
3, 0 2T TE TEH AW Fa
4, O W rE (e (RFre Reta 9iEe o o= WIEE 60
Options :
1.1
2.2

3.3
4.4

Question Number : 137 Question Id : 953357157989 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



o fEEfae g Ao A T oo T2

= Feran oAE TR 75 S < FES (A, OIRGE 5 S ATEEere! -
1. Fretws =eyfRyE et
2, FRtag 7o T
3. (I o1 =TI

4, G AL AAGT AWA-2WI TG 2
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 953357157989 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

el eEERS o ASerE Al Tag Tam T

= Feran oAE TR 75 S < FES (A, OIRGE 5 S ATEEere! -
1. Fretws =eyfRyE et
2, FRtag 7o T
3. (I o1 =TI

4, G AL AAGT AWA-2WI TG 2
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 953357157990 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IR '7?";: EEET o FEem AiE T e T

firea o e oo TR ewesd Soe = -
1. (72 ©F ST (exposure)
3, T WA Tl
4, TEEETE T

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 953357157990 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



o fEEfae g Ao A T oo T2

firea o RReed oo TR ewesd Soe = -
1. (72 ©F ST (exposure)
3, T WA Tl
4, TEEEE TSI

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357157991 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e EERe ol HEerE wiiw Ted b T

@I (HLE TG g 01 G wmwgsd oFw | FEel Fear o8 @ -
1. o 1 ¢oifer e «E@re Tied 9 91 o= (ofE saE
2, OAR e el wd <fwe
4, 9 \'—Jfgfp'ﬂcf <lls

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357157991 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o fEETe oebe T Alie Tan oan o a1

@RI (= T S T G wwesd o | el e o8 0 -
1. (o A1 (A3 o2 q@Te RueE 36 7 = (o TR
2, ©IFa e owelm o s

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 953357157992 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



o fEEfae g Ao A T oo T2

fow ave Refesfm o @@ e
1. TErFE 92 e @2
2, v qraeig SfEsere
3. XA 2 eIEE 0UF oy *w @

4, foee a5f5 52
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 953357157992 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g, fEERe erifba wEers W Tog Tana o |

fm eve fegfosfem wwg @@ 97
1. TErwa @32 e @2
2, o qrgeirg SfEserem
3, TRFE 25 ST ©UF oy == @

4, fovde a5fs 2
Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357157993 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g, fEERe erifba wEers Wi Teg Wang o |

1, =39
2, 954
3, 2WEA

4, o9
Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357157993 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



el eEERS o ASerE Al Tag Tam T

T[T G (BT (T (O (FI WFed [0 F2 FE?
1. =99
2. | Eb]
3, T
4, A5
Options :
1.1
2.2

3.3
4.4

Question Number : 142 Question Id : 953357157994 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

foere: FEEle o wEos AE g fodva =

fqieas anefie wEa Frmdived SIne T0Ed S (TG v, FrEel -
1. (@t weas Fpwd-fE=e oy T 20 TIEE
2, Fommca =rar e = «fS T g
3, 4G AEEE ey g @i AL F0F
4, «ft e Taae T=m TS AW FE
Options :
1.1
2.2

3.3
4.4

Question Number : 142 Question Id : 953357157994 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

s, faEEe oee Ao wiie Teg Tdm T

fqieas anefie wEa Frmdived SIne T0Ed S (TG v, FrEel -
1. (@t weas Fpwd-fE=e oy T 20 TIEE
2, Fommca =rar e = «fS T g
3, 4G AEEE ey g @i AL F0F
4, «ft e Taae T=m TS AW FE
Options :
1.1
2.2

3.3
4.4

Question Number : 143 Question Id : 953357157995 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



o fEEfae g Ao A T oo T2

e wwre el ouee = 99 -
1, Frrama sfaaw afewm o
2, HEEE TS Oigeey FeEE 9 Hieed
4, 92 (ATF RwETas &f TEE W w0

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357157995 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e e ey JEers wie Tag fdoa o=

e wwre FERdia e oE 99T -
1. FrFerag ofFew afew o

7, FEEET TE wgeed FelEE g9t Fieea

3, v =29 fTEEg Wi viee @

4, *J2 &t T affs Tr@e W+
Options :
1.1
2.2

3.3
4.4

Question Number : 144 Question Id : 953357157996 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e e eilg Fders wiie Tag fdoa o0

A(EE JEACEE G2 ST 7
1. 949 '-‘_T:SE I GIRCHED!
2, TRATS (T T 2w e @nyg T weem =1
3, Forpe =2 fermer Safe wivw frmdie @iee wivre s=EE EEe
4, wifErs R sifrst =1 s Fom @mr woste e fda
Options :
1.1
2.2

3.3
4.4

Question Number : 144 Question Id : 953357157996 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



o fEEfae g Ao A T oo T2

AAEE TEACTE T ST 12
2, TS @A FaeEa evw fErwdieE @neg e weag w1
3, Forper =2 fermer Bafe wivw frmdie @i =ere S_ER TEEE
4, wfers fawm ofams @ seum e &om @2 o W i

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357157997 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e EERe ol HEerE wiiw Ted b T

e sfafEfere wam Aign 92 AT I99ET T THE S ATAE?
1, TFaeE faEfE s
2, &fefs Fread-fefes Hams 7 w0
3, WEAE FHES TCACE (G
4, Faarfotes Teay 992@9 ToF TEEe S0
Options :
1.1
2.2

3.3
4.4

Question Number : 145 Question Id : 953357157997 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e fEEe owe wEors wiie Ter Tdma o0

e sfafEfere wam Aign 92 AT I99ET T THE S ATAE?
1, TFaeE faEfE s
2, #fsh Tead-fEtes ame A =
3, WEAE FHES TCACE (G
4, Faarfotes Teay 992@9 ToF TEEe S0
Options :
1.1
2.2

3.3
4.4

Question Number : 146 Question Id : 953357157998 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



e feEERe erifba F&orm 7 T b <01

1. G (FEmeEyd @ e @R @ffbre Ermdm M aamst
2, G5 =eEEE il 251 (@RI Rl =1e wE T A 9 e SIEred Ae
3, Tomr 211, O3ICY <% 91, WIS I A - @l == e weme o3 =g I [
4, Forrs Rrmdiena BT Seaele SO T oFT S
Options :
1.1
2.2

3.3
4.4

Question Number : 146 Question Id : 953357157998 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o, faETe aeiba A0S Alie Tag fFan o |

1. G (FEmeEyd @ e @R @ffbre Ermdm M aamst
2, G=fb =eETER (i 25 @A FEREE =T OE 90 4E 99 RES OEend AyE
3, Tomr 211, O3ICY <% 91, WIS I A - @l == e weme o3 =g I [
4, Forrs Rrmdiena BT Seaehe SoTE T oFS S
Options :
1.1
2.2

3.3
4.4

Question Number : 147 Question Id : 953357157999 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o, faETe aeiba A0S Alie Tag fFan o |

gyt 2w Boe
4, TR TEg Tom AEET o9 3w
Options :
1.1
2.2

3.3
4.4

D - b

Question Number : 147 Question Id : 953357157999 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



el eEERS o ASerE Al Tag Tam T

AT K -
1. fammg2 2em Boe

2, GIETR T Tw
3, TSN TR SR TR SEEHTS T4 Tow
4, TIFET THF WEEATT T4 oS

Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 953357158000 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

foere: FEEle o wEos AE g fodva =

foes eiwe (e feghels ™ vaiee aral @iee?
1. @ fre 739 T, o3+ o GifEe wFel 4 ot
2, e e wiee =g Sfomeng «9: &fon wam @ owe wste wemae oaT e
3, A S G A ST @] 2T
4, 2ToqeE TEaE TeF B M wEy e
Options :
1.1
2.2

3.3
4.4

Question Number : 148 Question Id : 953357158000 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

foere: FEEle o wEos AE g fodva =

o oimg (i feghel crams sxies =l erifes?
1, =5 e T4 T, O oEE GhiEE wEel A0 9
2, Tére w1 wiEE < Sfereneg «=: fHfen wam ¥ owg wasre JoEag oo feam
3, A S G A ST @] 2T

4, 3feq5% TETR B oA fear o g
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357158001 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



o fEEfae g Ao A T oo T2

GEE Yo 9E0e (@R -
1. ©ifs o539 (2t T=a fea
2, T (2T FoLF
4, Tae 2t e

Options :

1.1

2.2

3.3
4.4

Question Number : 149 Question Id : 953357158001 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e faEEEe exilg Fders wiie Tag fdoa o0

AR omre FEne @RT -
1, Sifs =57 (2eE ooe f9am
2, <39 (T wetE
3, &l GUGE g
4, fae 2t o
Options :
1.1
2.2

3.3
4.4

Question Number : 150 Question Id : 953357158002 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A faEe oeba 7eors wiie Ten fFan o 1

G T @rd G0 e (G-0T FgEE AR s a6 Frere 9@ ey 3 efEms Tre =97 -

1, e EmyEE st 3 T
2, SRR FB2 {92 (AT 0T R @i
3, OIWE A BE wEelE *e giw
4, '51'5-?1?]71—7035 (2[F S iR ﬁm‘ﬁ <40

Options :

1.1

2.2

3.3
4.4

Question Number : 150 Question Id : 953357158002 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



o, foEfae erifba Féems e T v o |

o firss TEmd 0 AT G- TgEE AR adEE 38 Frare qaEm 0 3 e Seee == -
1. s ¢4y s 5B <=
2, AT T 92 (A 20T A (@RIl
4, 2T (ALF Sl AT Tl =4

Options :

1.1

2.2

3.3

4.4



